3000 ZAAAE 3100 sFANEE 3130 wEXE 3133 wHvIEsE 110 dxdv] 101 A4zAY]
e =5
o AF o At = 7] *
Alg A4 g =
?%1?%;?71%7@ 3,155,169 |[= 422,581 &= 146,611 Al 2,585,977 |
%)%Qﬂ& 567,513 |[=* 15,822 &= 3,000 A1 548,691 |
B 373,673 |[= 15,822 & 3,000 A 354,851 |
S 373,673 |[= 15,822 & 3,000 A 354,851 |
38,540 |09 L-&NH<
OFEFHE d&AH9 (=23,763)
-7 34,300¢) * 299¢ 10,256
— o= 10,255,700 = 1/3 3,419
—AAFETE 34,3009 * 21 721
- FEFETd 34,3009 * 525 1,784
- FdEFFg 34,3009 * 29 x 12¢ * 1.5 1,235
— &M 10,256,0009) * 0.1 1,026
— A|7ke] ZH-Y 3,179¢) * 45A17F = 12¢ 1,717
— 2] S$-7) M u] 20,157,000¢) * 3% 605
— 3244 6,000 * 209 * 129 1,440
— ZA A Fx1 o H| 130,000¢) = 12¢ 1,560
ORFs7l= Bxd AF9 (=14,777)




3000 7 A7) 3100 &N 3130 wE=XF 3133 EH7I=MNY 110 <1714] 101 174

v} =
P P = o AF o} s = 7] =
— 7| Rz 29,4809 * 250 = 7,370
o= 7,370,000 * 4/12 = 2,457
—AAFETE 29,4809 * 154 = 443
- FEFETd 29,4809 * 525 = 1,533
— A7k RS 3,179 = 30A1%F * 129 = 1,145
— 3244 6,000 = 20 = 129 = 1,440
— 2] S$-7) M u] 12,948,000¢) * 3% = 389

335,133 |10 QAJA}EI Q1.9

OHZFAME 29329 179 (=23,205)

— 7| Rz 45,390 * 299Y = 13,572
—ANGFFY 45,390 * 15¢ = 681
- FEFETd 45,3909 * 525 = 2,361
- FAdaRTY 45,3909 * 29 * 129 * 1.5 = 1,635
— A7k RS 3,1799 * 45411k « 129 = 1,717
— 2] %7 A 1) 19,965,000¢) * 3% = 599
— F21H] 6,000 = 20 = 129 = 1,440
— A ZAHE AR Z3} o 100,000 * 129 = 1,200
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3000 AN 3100 wEAAYE 3130 wEXE 3183 wHIeA® 110 4FW] 101 Az
v} =
Al & Al Al & = A “ ® ’ -

OEIFEA 2 stataaldd A9 (=47,129)
— 7| Rz 36,0509 * 37 * 299% 32,337
—AANF TS 36,050¢) * 3 * 15¢ 1,623
—fraFdrd 36,050 * 37 * 52 5,624
- FAd2TEFY 36,0509 * 3 * 2 * 69Y * 1.5 1,947
— A7k RS 3,17090 * 39 = 20A17F = 12¥ 2,283
— 2] S$-7) M u] 43,820,000%) * 3% 1,315
— A 7}A] 32l A EF o u 2,000,000¢! 2,000

OF FEA B A7 AR 9 130M] (=37,480)
— 7|5 45,3909 = 27 * 299¢ 27,144
—ANGFFY 45,3909 = 29 * 159 1,362
—fraFdrad 45,3909 * 27 = 525 4,721
- FAdaRTY 45,3909 = 23 * 29 % 6Y = 1.5 1,635
— AlFQ] T F- 3,1799 = 29 * 20717} = 12€¥ 1,526
— 2] S$-7) M u] 36,388,000 * 3% 1,092

OX&dsdveld AAYT B9 (=15,374)
— 7Rz 37,1309 = 27 = 21 = &€ 12,476




3000 7 A7) 3100 &N 3130 wE=XF 3133 EH7I=MNY 110 <1714] 101 174

e =5
o AF o s = 7] *
Alg Al Al & =
- FEFETd 37,1309 * 27 * 355 = 2,600
—Ax}GFEY 37,1309 * 8% = 298
OASAHE Aikie] AR (=58,779)
— 7| Rz 29,8709 * 6% = 2499 = 44,626
—fraFdrd 29,8709 * 6™ * 525 = 9,320
—AAFETE 29,8709 * 67 * 10 = 1,793
— 3k <) 2,000 = 89 = 150 = 2,400

—gued 9 LU B 9 kst 7

80,000¢) * 87 = 13] = 640

OFRZ £A 8 A4 (=110,002)

— R =AM Q179 (=80,292)
R 29,870¢) * 87 x 2744 = 65,476
FaFdTsd 29,8709 * 87 * 525 = 12,426
- AR} TS 29,8709 = 87 * 10d = 2,390

— A7 A g, st 24 A (=25,390)

= 29,8709 = 109 = 70 = 20,909
R R 29,8709 * 109 =* 155 = 4,481




3000 AAMNE 3100 AN 3130 wEXE 3133 FRVIEANE 110 Ay 101 <17im
e =5
o AF o s = 7] *
Alg Al Al & =

— AZHA S AR 32 Y 2,0009 = 247 * 709 = 3,360
-5 9 ekds - 80,000¢ * 67 * 23] = 960

O Hals J=FE &9 13 12,142,0009 = 12,142

[= 6,071 Al 6,071 |

OFFdsdAY LAY A+ 7,501,000¢ = 7,501

[ 3,751 A 3,750 1

OxAFTAA =4 #gd A7 12,000,000 = 12,000

[ 6,000 A 6,000 1

OFSFFFEAN H2ARY 11,521,0009) = 11,521

[= 3,000 A 8,521 1

173,%@731:1] 193,840
%3*11%03 . 125,800
125,800 |01 Lu+-e-<dn]

OdrkEgH] FA 44k (=125,800)
— A ukg=g-v] 24,500,0009) = 24,500
-+ 2,000,000¢] = 2,000
— 3] En) 800,0009) = 800




3000 AANE 3100 FFEAAE EXE 3133 FAVEAE 120 AA™AW 201 Iukgw]
il - o AF o s = 7] *
Alg Al Al & =
] 14,700,0009) = 14,700
— a8 1,000,00091 = 1,000
— g 56,100,0009 = 56,100
— Al A8] 1] H) 26,700,000¢ = 26,700
%g%] 43,840
41,800 (01 ol H]
O7) B FZ=7 0] 150,000 * 16 =* 129 = 28,800
OFEAEA A4 5 At 9 w534 oy
5,000,0009 = 5,000
ORLEARAYA 7)eH T FH 01 4,000,000¢! = 4,000
OA A2 - Yo AA7)% BF F7 o] 2,000,000¢] = 2,000
O 45H D AZHA S 2242 521 o8] 2,000,000 = 2,000
2,040 |02 Y oIn)
OgHoin] 170,000 * 1% = 129 = 2,040
FEa 020
2,000 103 A F=31 F-F=X1H
O E5AdFAE 2 A= gF F4 2,000,000¢ = 2,000
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3000 7 A 7N 3100 sk 3130 TR E 3133 = 7|& )k 210 HEAY 202 oH]

3 =
o 2 o A =1 7] ES
Al Al Al & =
ey e 2,587,656 |[% 406,759 %= 143,611 Al 2,037,286 |
% bl 948,500 |[= 406,759 %= 143,611 Al 398,220 |
e 3,000 |[% 1,200 A 1,800 ]
3,000 |03 =52]efu]
Odd sjelil7le AR89 F4 3,000,000 = 3,000
(% 1,200 A 1,800
- 78,578 |[= 19,678 &= 11,360 Al 47,540 ]
78,578 {03 A% ]
Oox¥st g =4 (1712) 5,000,00091 = 5,000
[ 2,500 4| 2,500 ]
OM7lE ASANIE ATdsA4 10,000,000¢ = 10,000
= 5,000 ] 5,000 ]
On Wallg 2% 2 a2x 29 A=A 5,858,000 = 5,858
= 1,429 A 4,429 1
OX#d Fdxeld +d(AF 2 7124 7)) 6,000,0009 = 6,000
[= 249 A 5,751 1
Oz sEddAA g 458 T 1,920,0009 = 1,920
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3000 AAE 3100 FAbNE 3130 wEIE 3133 wHUIENE 210 HEA]] 207 ATtk
7} =
A A A7 = e i B /! B
(= 960 Al 960 1
OHFEF SARAE A 1,800,000 1,800
(= 900 Al 900 1
OFEA FABAE AN 7|2 A9 6,000,000 6,000
[= 3,000 Al 3,000 1
OHe= =3taa A 5,000,0009 * 3714 15,000
[= 7,500 Al 7,500 1
O%% AAFA B 2740 A 5,000,000 5,000
(= 1,500 A 3,500 1
OW=E 1FEQ & YA 5,000,000 5,000
(= 1,500 A 3,500 1
O &5 A A 5,000,000 5,000
[= 2,500 Al 2,500 ]
O &g Fb= A A7ls FUAH 2,000,000¢! 2,000
[= 1,000 Al 1,000 1
OANAA F71&2A 7 Bals EAAN 10,000,000 10,000
(= 3,000 Al 7,000




3000 7 A7) 3100 &N 3130 =S 3133 EH7I=MNY 210 HEAY 301 AWtR G

o} =
A% A % 5 e i - ' -
%‘)1&_@%% 127,000 |[= 97,000 A 30,000 ]
127,000 |12 7| e} A=

O 817 2= 2 2] %] 1 67.,000,000¢ = 67,000
E3 67,000 ]
Odnd F=An A 60,000,000¢ = 60,000
E3 30,000 Al 30,000 |

‘g%x}%om 720,012 |[=* 282,081 &= 131,051 Al 306,880 ]

720,012 |01 9IZHAFEH 2=

OW HaF 2FNA 2 (100E) 26,100,0009 = 26,100
[= 5,220 A 20,880 1
071574 #7115 AL AH 80,000,0009 = 80,000
[= 40,000 A] 40,000 ]
O3h3] A58 FFTET 16,000,000¢) * 1704 = 16,000
[ 8,000 A 8,000 1
OAl2dd oloju = A28 #ejAR 8,000,000 = 17H4 = 8,000
[= 4,000 Al 4,000 1

O%&sd MATEH AFa hAA
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3000 AANE 3100 FFARE 3130 FEFE 3133 FAVIEANE 210 BEANY 402 WIkAEolA
ﬂ - o AF o s = 7] =
A8} Al Al & =
3,000,0009) = 47]24 12,000
[= 6,000 A 6,000 |
Ol o hin] 871443} 538
12,000,000 * 3714 36,000
(= 18,000 Al 18,000 |
O=7] $-HZHHF A AW 20,000,000¢) * 1704 20,000
[ 10,000 Al 10,000 |
O34 1FA FE54E AAaA] AW
5,000,000 * 3704 15,000
[= 7,500 A 7,500 |
OFANEST RIdls F287] BT S 9A 24
5,000,000 = 27] 24 10,000
[= 5,000 A 5,000 |
Oouv&E4 427 I+ 12,000,000 12,000
[= 3,600 A 8,400 1
O Yol & A7 AL AGEEL T
12,000,0009) = 17) % 12,000
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3000 7 A 7N 3100 sk 3130 TR E 3133 = 7|& )k 210 HEAY 402 W Z7FRFE 0] A

e =5
o AF o At = 7] *

Alg Al Al & =
[= 6,000 A 6,000 1
OESNZFA&F 342,912,000¢) = 342,912
[ 233,381 &= 19,259 A 90,272 |
OF 25747 72,000,0009 = 72,000
[ 9,000 %= 13,000 A 50,000 |
ORA LG A 2= fsA A 58,000,0009 = 58,000
[ 21,700 %= 3,472 A 32,828 |

BRI 20,000 |[= 8,000 A1 12,000 ]

20,000 |01 AFAML B-EZ 3 E1)
O s FolEA Zujr9]l 20,000,000 * 1th = 20,000
[= 8,000 A 12,000 ]
%{2}%] A 1,639,066

iﬁ%m 178,840

OX&4sdaeld 7= (AAS7]8) (=2,380)
— oA A A 100,000¢)  * 15% = 1,500
—ohrksh A 4 220,000¢ * 4% = 880

OE¥HEAY A=+4 3,000,000 = 3,000




3000 AAANE 3100 sFAAE 3130 &S 3133 FdIEAE 220 AAANY 206 A|EH|
ﬂ - o AF o s = 7] =
A&} Al Al & =
OLAE AHAE ¢ 500,0009) * 3% = 1,500
O%RH £ sz A2 (28%) 105,000,0009 = 105,000
Ozt A7) 8,860,000 = 8,860
Ota w7 ZA08] A =24 47,300,000 = 47,300
O7}2% ZAo] Ax 180,000 = 12071 * 50% = 10,800
%)ZHH e 247,426
247,426 |03 A1 & A4
OAAL B TH] A 4,000,0009 * 174 = 4,000
Oxgndg 2 A 4,000,000 * 1702 = 4,000
OqALA SELE AH 5,000,000 * 174 = 5,000
OW FoldA oltAn] A 10,000,000¢) * 1704 = 10,000
O Ao sz E 87| o]§ Wz WA
3,000,000 * 37 & = 9,000
Osht-2 278 a 2pFA A A -
10,000,000¢) * 17124 = 10,000
OFn A A3 2ha A A<
150,000 * 23] = 229 = 6,600
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3000 AAANLE 3100 sFANE 3130 sEZE 3133 wPvIEAE 220 AAAN] 0 207 A
il il o Ab el s = 7] x
A& A A& =
O &8 2 Alat BHels WA 3 2d 44
5,000,000¢ * 27]4 = 10,000
Oxpd =3t kg 2 A3 A4k A% (50ha)
200,000€1 = 507§ 4 = 10,000
Ozt 7154 B4 2717433t %1 (20ha)
1,000,00091 * 107]4~ = 10,000
OASTANHEE EFAE THAESAHEE 59| 20F)
45,446,0009 = 45,446
OAZAEE v duA 20,0009 * 1,144% = 22,880
O A &4 (=20,500)
- & x=F AT 250,000 * 40% = 10,000
—obAlE, =ETE 5 A g Al
80,0009 * 8% * 5% = 3,200
-GCEAg A9 500,0009) * 4% * 13] = 2,000
— g Az AA 1,500,00091 * 1t = 1,500
— BN 2AF 2 APE I T 7Y 200,00091 * 15% = 3,000
—FHENE 2= THS 100,000 * 4% * 23] = 800
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3000 AAAE 3100 FFAAE 3130 FENE 3133 FHAvIEANE 220 AAARY 0 207 AsREbA]
ﬂ - o AF o At = 7] =
A8} A4 g =
%)ZW%H] O7HA% ¥ $H7|% B3 80,000,0009 = 80,000
gé}aﬂg% 614,900
614,900 |12 7|E} AT
ORZAE2EQAZ AA] A2 200,000¢) * 50% = 10,000
OFAl #Fo]7] fet A 39 571A 2
230,0009) * 5,260ha * 50% = 604,900
%)% ol 551,000
551,000 |01 §17FARE- R 2=
OF=, %A A& dajrkts AF A AW
96,000,000¢) * 1704 = 96,000
OFX87 45 A At 9 AW
24,000,0009) * 1704 = 24,000
OE7] sS4 AEFF 24 AN 16,000,000¢) * 1704 = 16,000
OAlA 37 A A 8,000,000¢ * 1704 = 8,000
Oazt AN FH4AT5 57 $4
25,000,000¢) = 17HeHA] * 0.8 = 20,000
Oun] v AZe4 A Ald 2,000,000¢) * 10F = 20,000




3000 ZAAZE 3100 3133 FA71EME 220 AAA 402 WZFxpE o)A
i - o = 7] =
Alg Al Al & =
OF=v3 A4y Fd 2,500,0009 * 47024 = 10,000
O=u] 2 AujekA] = 80,000,0009 = 80,000
O 5H 2 AidA = 50,000,0009) = 50,000
OFART F4E X34 AU (20%) 20,000,0009) = 20,000
ORBAEY AAMES 2D FH) A ¢ 100,000,0009 = 100,000
ORMA FHARZF e 2~HA A4 5,000,000¢) = 5,000
OBA ¥ A 5242 A4 (=102,000)
— AAR 20090 * 70ha * 3,000kg = 42,000
— a3 7 (R AADY 15,000,000 = 4t) = 60,000
Tt .0
46,900 |01 AL B-3E 2 =1
OBAL7] =& a A 3,500,000¢1 = 19 = 3,500
OAMF2A olojA ¢ 1,400,0009) * 1th = 1,400
O A s a4 F=x 7 3,000,000¢) * 1) = 3,000
O sdaed Adad 4 2,000,000¢) * 1) = 2,000
O dsdaAgd A +49 1,000,000¢1 = 5% = 5,000
O34 -sd el v aA 25,000,0009 * 1t = 25,000
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3000 AAME 3100 FFANE 3130 HEXE 0 3133 HHUIEANE 220 AAAY 405 AAEH EH]
i =

o 2k of | | | |

A gk A A& %

O&Fd7 THoAF " dvE7 7.000,0009) = 1t = 7.000
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